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Quiz REVIEW
Say it with Symbols
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1) Write a formula that could be used to find the area of the object above.
2) Select the expression that is not equivalent to:  6x + 10
a)  3(x + 2)

b)  3x + 8 + 3x + 2
       c)  6(x + 1) + 4
     d)  2(x + 4) + 2(2x + 1)
3) Write an equivalent expression in expanded form. 

a)  7(x + 3)


b)  (4(5x ( 8)               c)  - (5x + 4)



4) The Weston Aquatic Center is trying to set their summer budget.  In order to do so, they must make some predictions for the summer.  They calculate profit P based on the number of visitors V to come to the water park.  The pool workers also know that the number of visitors is based on the probability of rain occurring R.  Use the following equations to answer each question.

P = 3.25V ( 400

V = 500 ( 300R

a) Write an equation for the profit using the chances of rain R. 

b) If the park were expecting to make $300, what would the probability of rain be?  

c) Suppose the probability of rain is 75%.  What profit can the water park       

expect to make?  
5) Solve.  

a)  4(x ( 1) = (24

b)  7 + 3x + 13 = 41
 
c)  2 – (2x + 3) = 7
6)    Write the equation for the area of the shaded region.  
Use the formulas A= (r2 and  A = bh




7)  Find the area of the entire shape.  
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